Name ___________________________________________________

Exam #1, Math 102, Autumn 2007
1. Evaluate and simplify the following when x = -5, y = 4 and z = -2.
a. 3x + y
b. 
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2. List the elements of the set below that are also elements of the sets listed below.   
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a. Natural Numbers:

b. Integers:

c. Rational Numbers:

d. Irrational Numbers:

e. Are there any numbers in the set which are NOT real numbers?  If yes, list them.

3. Simplify the following expressions:

a. 
[image: image4.wmf](

)

(

)

[

]

2

18

14

5

3

25

-

+

-

-


b. 
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4. Write the following sentences as algebraic expressions or equations using mathematical symbols.

a. Eleven added to three times a number.

b. Seven subtracted from five times a number is six.
c. The reciprocal of a number is greater than the sum of the number and one.

d. Nine times the difference of a number and 4 is not more than 1.

5. Use properties of real numbers to simplify the following expressions.

a. –4(x - 2y + 7)

b. –(n + 5) + (5n – 3)

c. 
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6. Solve for the variable.
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7. Solve for the variable.
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8. A new fax machine was recently purchased for an office in Hopedale for $464.40, including tax.  If the tax rate in Hopedale is 8%, find the price of the fax machine before taxes.
9. The sum of three consecutive even integers is 4572.  Find the integers.

10. Find the three angles of a triangle if the second is twice the first, and the third is three times the first plus six.
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Bonus: Explain in your own words and give an example of each of the following properties (not combined with any others!):
Commutative Property:

Associative Property:

Distributive Property:

Why does the additive identity have no reciprocal?
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